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R ising Porenihesi

la. Name the puncheaticn used for
parenthesis in fhe following senfences.

&. The possenger smiled through geitfed
feeth and soid nothing (she wasnt
very happy about the plane’s delay).

B. The Amaron rainforest — which is in
Brazil - is the world's largest kopical
rainforest and covers an area ol over

1b. Home the prncleation vsed for
parenthesis in the following sentences.

A. The seo oppeared o be colm and skl
when viewed from the beach
[undemeath however there was a
strong current).

B. The baby gwalle, which had just been
barn. sfrugaled bo sland on his weak

5 méllion square kilomelres, spindly legs and had to be helpad by
.. his mather,
o7 157
2a, Cwcle the punchealion used for b, Circle Ihe penclualion vsed lo
parenthesis in the senfence below. parenthesis in the sentence below.

The odd decrepit casfle, which sal on fop
of the hill, hod been obandoned for
harndreds of years and nobody dared to
enter i,
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The old brown box. which hod been sal in

the: comer of the aottic for many years,
was covered with dust and cobwaebs but

the ey was surprising by cleon.
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do. Undesline the porenthesis in fhe
sentenoe below.

The vegelable palch — which sal in the
alletment - was looked affer by iy
grandad and | used lo help him with i
during fthe summer holidays.
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ib. Underline the parenthesis in the
senlence below.

The elegani ballerina - who was aboul o

shar in har own stage show - hod bean
training for mony yvears and now her
dream hod come tiue,
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do. True or false? Commos are used
corechy for porenthesis in the senfences

below
T|F

d4b. True or folke? Commas are vsed
comecihy for parenthesis in the senfences
bt |y

A | wend to the cinema o 1ee
Trolls with my dod. and we heod g
gian! Buckel of popao.

AL My brodher ikes 1o avel and is
cummenily in Modogaoscar, an
island south east of Ao

B My dod, who is sevenly. signed
up o fake pard in o marathon

becouse he VeSS NJnming.

B. We will be visiing my cousins in
Lomdon. and we will s5ea fhe
Christmas lights.
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